MPM1DI Unit 5 Lesson 6

Warm Up:
Given R = 50p, determine:
a) constant of variation 50 b) fixed value O c) slope of theline 5 O

If R represents the money raised at a fundraising event, and p represents the number of
people, determine how many people came if $6500 was raised.

50p = 6500 o
5 Hended Hhe tandrai sin
SOp. . bSOT . V20 People_a‘lﬁnd- ‘Q«L@ ' 5
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P =120 Unit 5. Linear Relations |

Day 6 - Connecting and Applying
So far, we have learned how to identify a linear relation from a(n):
L graph  (shraugt Rne)
2. Jable of value Cfirsh diffkrences are constant)

e =0
3. wohon =y of = o A+ B ‘3+
AND - 3 (o -exponerts on AL of j)

- we can tell if a linear relation is direct or partial by the graph or by the form of the

1 rHal
equation ‘ Jirect ’ lairi ahont
arlat an
Yi

- we can calculate slope of a line
™Mo Tlise wmio Ay =Y~
reun Az =%y
Now, let's tie it all togetherlll

{EX.71] The following table shows the height above the
ground of a snail as it crawls up a pipe. A
a) Graph this relation, Is it partial or direct variation? 34 A 3= %
Par"ha\ variation Eﬁaes Yhro 3)] 34 6 5 pS-t =
I k -5 =
b) Use first differences to confirm that the relation is linear. S 9 9 | i i
Thegd c\\-C-Qreme,s are &!l'-\—\f\e_same_ , Ay ie constant 2 4 12 13 Pin-9= IJ‘.

c) Calculate the slope. + + 9 =ph is linear

v Mse  wm_dy (6,5) (9,2) L\‘{;j’\m’ —’5”#\5“!1”
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d) What is the initial height of the snail? i i

3 ™ below +he 3mund leve
R-—Hne. 'r\-esa‘}'\oe_ 3?.'3"5

+onslated nde o meg,nu\él._ ! . &
e) Write the equation of the line.  Word. ' l ‘ ’ | l l
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MPM1DI Unit 5 Lesson 6

Ex. 2 y varies Partm= 0,y=3andwhenx=6,y=8.

a) Find the slope and the vertical intercept

(y intercept) of the line. Given (0,3)
(0,3) (6 8) Sob=3
e ., verhca) intercept
™Y /Y s is 3.
X~Yy T b
2-3 e S\BPE‘\S 5.
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&-o

b) Graph the relation.

c) Write an equation to represent this partial variation.
5:‘-\’“%“0 5 m:% S b=32 so,

5:‘. %7L+3

["Ex, 3 /A company tests Fieavy dufy elastic bands by measuring how much they stretch

when supporting various masses.
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Az * N = Z
% Mass (kg) 0 i 2 7 1 . o | 8
Y Length (cm) 6.2 |, 9.6 J, 130 |, 164 |, 198
st Dilferenes (A Y ) BN 3.4 o N
S Determine if this relation is linear. 2 3t

Ax 1S congtant, Liest dllerences are all +t\_g same

So the relation is \inear.

b) What does the point (0, 6.2) represent?
“Siarhal value

¢) Calculate the slope. What does it represent?

™ By . $or every | kg thot is attached,
I -%9\9,&6] i Sare'\(hes \.Tem.
T2
=1.T cm fkq

* F 4
e YK =0

The elashkic band is b.2cm long with no mass attadhed.

d) Write an equation in the formof y=mx+b. wiL =177 b=lb.

% =T+ b. L

e) Predict how long the elastic band would be when it is supporting 10 kg.

y = 1 700)+b. 2
= 1T+ 2
=23 %

(W

C e e\astic. wouldbe
A, doem Ion&-

L mass = 10kg
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